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1
Which characteristic of living things is represented by the arrows?
@ excretion
B growth
C putrition
D respiration
o Which of the following animal pairs are most closely related to each other?

A bony fish and crawfish
B frog and lizard

@ grouper and shark

D lion and seahorse

9018



‘] 3. The diagram shows a typical {lowering plant.
.‘ Which letter Jabels the structure from which the branches or aerial roots grow?

_—

4. Which consumer obtains its energy from producers only?
i
A carnivore
! B decomposer !

@ herbivore

A el he N Gl

D omnivore
| T i
o The diagram shows a food chain.
- 1
! , )
i .é‘ —- — - ;z S el — B T Y b .
% & - 3 e’ ¥
algae prickly crab broad shad barracuda
winkles
| Over-fishing the barracuda may resalt in the
- A decrease in the numiber of shads,
B decrease in the number of prickly winkles.
ﬁ*] Yy
| & increase in the number of the crabs,
(_f) ] inerease in the mmber of the prickly winkles.

O | ' [T over
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f. Which process remaves carbon dioxide out of the atmosphere?
A combustion
B decomposition
::(_Jﬁ} photosynthesis
D respiration
i During which process are nitrates broken down to release nitrogen gas?
A ammonificatjon
‘{E-‘; denitrification
O
C nitrogen fixation
D respiration
8. Tﬁe diagram shows a part of the inflorescence of a maize plant (Zea mays). Which

statement about this part of the inflorescence is correct? :

It develops from an axillary bud.
It is called the “cob” or “ear.”
It contains the female flowers.

It contains the male flowers,

LB IR



9, The diagrams show four types of instruments used to capture marine species. Which
methaod is illegal in The Bahamas?

10. Which is the most important method used today to protect the mangrove ecosystem?
A Limit collection of firewood.
B Moving the animals to a zoo.

' @ Pass laws to preserve the ecosystem.

D Put dams around the ecosystem.
11. Which of the following is an example of osmosis?
A mineral salts passing into root hairs
B oxygen passing into the blood
C sunlight entering leaf cells
4D water moving into root hairs

&

i
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12. The graph shows the sizes of several molecules that can diffuse across a partially
permeable membrane.

aEn FHEEE PR
200 .
| ;
150 f
Sizes
arbitrary units !
¢ it ) 100 - {
50
0 ‘
water urea glucose  oxygen
Molecules

Which substance will diffuse across the partially permeable membranes the fastest?

@ glucose

B oxygen
C urea
D water

L



14.

Q18

3.

e

An experiment wus set up to demonstrate a process which oceurs in living organisms.

thistle

funuel m——liquid X

partially permeable
membrane

After 30 minutes the level in the thistle funnel rose. What does this show?
@ Liquid X is a concentrated solution and Y is a dilute solution.

B Liquid X and liquid Y are dilute solutions,

C Liquid X is a dilute solution and liquid Y is a concentrated solution.

D Liquid X and liquid Y are concentrated solutions.

The pie chart shows the relative amounts of carbohydrate, fat, protein anc; water which

make up the human body.

Which letter identifies the amount of protein in the body?

[Turn over



15. An experiment was set up to find the effect of different concentrations of sucrose
solutions on potato strips. The changes in the weight of the strips are shown below.

Which sample was placed in the solution with a concentration almost equal to that of
the potato cells?

[ Snnl Concentration of Chance in
P sucrose solution (m) weight (%)
Q 0.05 +10
B 0.1 +8
C 03 -1
- — —
D 0.7 -13
| S

16. Which of 30 g of the food samples listed will give the most energy when digested and
absorbed?

A boiled cabbage

B bread

@ butter g

D lean meat

o018
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17. The table shows the amount per serving of nutrients listed on a box of cereal.
Nutrient Amount per serving
(serving size 1 cup/g)
Total fat 2
. 280
Total carbohydrate | »
Protein 3

How many grams of putrients containing carbon, hydrogen and oxygen only, will be

eaten if a person ate two cups of this product?

A~

B

Cc

D

54

48

27

24

18. Which enzyme breaks down fat?

A amylase
B carbohydrase
@ lipase
D protease
19. Which cell is best suited to transmit impulses?

Q018
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20. What is the role of roughage in the diet?

A for growth and repair
Cﬁ/‘} to help food move through the gut
C to help form healthy bones and teeth

D to provide energy

21. Which factor below is NOT necessary for photosynthesis to occur?
A carbon dioxide

B chlorophyll

@ oxygen

D water
22, Which organelle in plant cells contains the pigment that makes leaves green?
A cell wall
@ chloroplast
C mitochondria
D vacuoles

23, The diagram shows a typical plant cell,

Which part of the cell is the place where photosynthesis occurs?

Y018
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The diagram shows a leaf in sunlight.

sunlight

What gas is represented by arrow P?

@ carbon dioxide

B

C

D

nitrogen
oxygen -

water vapour

The diagram shows an experiment used to prove the presence of a certain substance in

a leaf.

leaf

A

Which substance is being tested for?

A
(B)
C

B}

carbohydrate
chlorophyll
nitrogen

protein

,;)"»fr,:'——— vapour

| boiling alcohol

hot water

- bunsen burner

[ Tari over
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26. The diagram shows the rates of transpiration and water intake of a plant over a 24 hour
period.
1 e 7R
T : i
30 b
rate 20 ey
(g of water per hr) : f =
] b
10 A :
- =
. [ - 4 L
0 11
12200pm 6:00am 12:00am 600 pm 12:00 pm
Time
Transpiration
Watec intake _ _ _ _ _

| How many grams of water are lost from the plant every hour when the transpiration rate
is at the maximnm? ;

A 6
B 17
| g
D 27
27. Which substance is transported by haemoglobin?
A amino acids
B glucose

C glycogen

e
D} oxygen

Q018




28. When a ring of bark is removed from a tree trunk a bulge appears above the ring after
a while.

What valid conclusion can be drawn from this information?
@ Sugars are transported in the phloem.
B The contents of the phloem are transported downwards.
C The contents of xylem are transported upwards.
D Water is transported in the xylem.
29. The diagram shows changes which occur in red blood cells as they move through parts
of the body.

Which stage in the diagram identifies what happens in all body tissue?

@}‘
red blood cell @i,  oxygenated

8 blood

deoxygenated
blood

9018 [Turn over
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31.

ONn1 &

<14

The diagram shows a heart which has undergone by pass surgery,

vein graft from
blood vessel A
to a coronary artery

coronary artery

blockage at Y

How would the blockage at Y affect blood circulation if the surgery was not done?

A Blood would not be able to pass to the atria.

B Blood would not be able to pass to the heart muscles.

€ Blood would not be able to pass to the lungs.

D Blood would not be able to pass to the ventricles.

Which process occurs in living cells at all times?

A photosynthesis

B reproduction

(6) respiration

1] translocation
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A scientist was growing yeast cells in a nutrient solution. What is the likely source of

carbohydrate for the yeast cells?

A aleohol
B celinlose
C fibre

a2
@/ suerose

The diagram illustrates the process of temperature regulation in a mammal.

inCrease in femperature

normal body temperature

normal body temperature

decrease in temperature S

Which process is occurring at §?
A sweating
urinating

B
(' C) vasoconstriction

=

vasodilation

[Turn ever
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34, The diagram shows a section through a kidney and the related blood vessels.

vena cava

How is the composition of the blood in P likely to vary from the composition of the

blood in Q7

A less carbon dioxide, more oxygen, more urea, more water
B less carbon dioxide, more oxygen, less urea, more water
C more carbon dioxide, less oxygen, less urea, less water

D more carbon dioxide, less oxygen, more urea, more water

33. The diagram shows a human kidney.

Which structure contains the lowest concentration of urea?

Q1S
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1 36. Which of the following activities in 2 mammal is not controlled by hormones?
- A change of glycogen to glucose
i B contraction of leg muscles

f C control of growth rate

D production of eggs

3T The diagram shows the results of an experiment using woodlice.

The majority of the woodlice collect on the dark side. What other stimulus cause the
same behaviour?

A friction

B gravity

£ high humidity

AR

D high temperatire

9018 [Turn over
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38. Which term best describes the movement of woodlice away fromn the light?
A taxis

B thrombosis

C tropism
D trypsin
39. The diagram represents glucose metabolism in the body.
» X
Y
blood glucose blood glucose
level increases level decreases
A
Y 1= .

What is hormone X?

A adrenaline

B insulin

C pestrogen

D testosteronc

9o s
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40. The graph shows the result of a blood test for glucose of two persons, P and Q.
= 1 LI ] L
e 1y ] Lr I i Eis
R L il 1 i
o
300
blood glucose : in
concentration 200 =
mg/100 em®
100 FEER: :
0 HH
0 05 1 13 2 25
Time (hrs)

What is the difference between the maximum blood glucose concentration of P and Q?
A 25 mg/100 cm’ ;

B 75 mg/100 em’

¢ 100 mg/100 cm’

D 125 mg/100 em’

2018 [Torn ovey
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The diagran shows a germinating seed.

Which of the following are all needed for germination?
A chlorophyll, light, water

B light, oxygen, water

C oxygen, water, enzymes

D water, soil, enzyimes
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|

The graph shows the increased risk of accident associated with drinking alcohol in two
different persons.
: il 1 [l
& CEHH
Person A .
S erson :
Increased risk HPerson B
ofaccidents X 19 >
x5 | E
] [ : : 1
0 50 100 150 200

Alcohol concentration in the blood

(mg/100 em? blood)

Approximately what concentration of blood alcohol level is needed in Person A and
Person B for the accident risk to increase ten times?

Person B

100

30

160

Person A
A 60
Bl
C 90
D 100

180 J

[Turn over
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43, The diagram shows a flower.

Which structure(s) could not be removed from the flower if self-pollination is to occur?

A 2
B Pand Q
C Pand S
D S

44, The diagram shows phototropism in a potted plant.
Which letter indicates the area where the concentration of auxin is greatest?

A

IV B
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If the plant has adequate water, what other factor will have a positive effect on the
growth of the potato tuber?

—

A deeper soils
B increased leaf area
longer roots

| D shorter roots :

o

46. Which of the following structures produces spermatozoa?

L8

| A epididymis
B prostate gland

. 64 sperm duct

L | \ &

D testes

LR el

[ o013 I'Turn over
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47. A person is startled by a dog and starts to run. What would be the correct sequence of
neurones involved in the reflex action?

48. Which of the following can be detected by chemical receptors?

A gravity
B pressure
C stretching

D taste

00 |
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49.

Which is the correct sequence of structures through which light passes in the human eye
before the impulse reaches the brain?

rods and/or cones
vitreous humor

1 aqueous humor
2 cornea

3 lens

4 optic nerve

3

6

A 1,.3.2,6,4,5
B 2.1.3,6,5.4
¢ 2,6,3,1,4,5,

D 3,6,2,1,5,4,

The diagram shows the possible genotypes of the offspring in a litter of rats.

BlackRat . Brown Rat Key B = allele for black fur
Bb b = allele for brown fur

/bb\ |
iR

bb

@ Bb Bb

Which genotype should be placed in the empty box?

A BR
B Bb
C bB
> bb

End]
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(d) Green plants make their own food.

(i)  Complete a word equation by filling in the boxes below.

{ ' "] energy from

5 + oxygen
sunlight s 3]
(ii)  Name the process represented by the word equation.
[1]
Total marks [10]
B n ; it
9019 .[Turn over
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The diagram shows an adult Queen conch.

(a)

(b)

(c)

(d)

(e)

3]

Write the scientific name for the Queen conch.

Name the structure that is responsible for making the conch’s shell.

T

. [1]

P : a '
USe the letter X to label the structure on the diagram that identifies the gender
of the conch. ' (1]

Describe the structure, visible on the diagram, that shows that this conch is
sexually mature.

[1]

According to the Department of Fisheries in The Bahamas, the Queen conch
is listed as a “threatened species™. :

Explain the term “threatened”,

[2]

Identify ONE factor that may cause a drop in the numbers of Queen conchs

in The Bahamas and state how this factor causes a problem in the fishing
industry.

[2]

(11




s s

(g)  State TWO methods of conservation of the conch practised in The Bahamas.

[2]

Total marks [10]

9019 foh, RN ) [Turn over
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The diagram shows an epithelial cell from the lining of the human mouth as seen
under a light microscope.

(a)

(b)

()

C
B
A
Name the parts marked A, B and C.
A
B
Cxz . {31
- Mt.”!
()2 Name the thread-like structures that are present in part B.

(ii)  State how many of these structures would be found in the cell shown

in the diagram.
[2]
If the cell is placed in pure water it will swell and burst.
(i)  Name the process responsible for these changes.
(i)  Pxplain why these changes occur,
(31




e

(d) Describe the effect on a plant cell of placing it in water. Explain the
difference between this effect and that of the epithelial cell.

Effect:
Explanation:
[2]
Total marks [10]
- ﬁ’!. Eé.
2019 [Turn over
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4, ‘The diagram shows the structure of a villus.

blood vessel X—~ ’.li-;,‘ '

= =—=to lymph vessel

(a) (i)  In which part of the digestive system is this structure found?

*
A
'

(i), ~'What function of the digestive ff’sf{e:m is carried oot here?

&

(iii) Name the structures found on part P that help to increase the surface
area for this function to occur.

[3]
(b) State TWQO differences in the content of the blood in vessels X and Y.
2]
(c) Name the first organ to receive the blood from vessel Y.
{1}

2019

I



(d)  Food is digested as it passes through parts of the digestive system. Complete
the table which summarizes some parts of this process.

Fartsl the iesthve Nutrient Kind Product
System
Mouth Starch :
; @) —
ks { 4. Peptides
(i) (iif) >
Small Intestines Fats 5t
(iv) :
3 e d T
. Total marks [10]
o
2019 [Tarn over
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The diagram shows the formation and excretion of metabolic wastes of human body

cells.
) BODY CELLS }-% e

r

e | I

A

' Other Organs | SKIN i LUNGS

(a)  Explain the meaning of excretion.

Pracess A Process B

g [2]
ot .

‘J “
() Idéﬂﬁf! the process B that occurs in all cells.

e [1]
(c) Identify the waste product Q.

i1}
(d) (i)  Name the organ that removes urea from the blood.

[1]

(i) Name TWO other organs through which urea passes on its way out of
the body.
[2]

m-xﬁ:x‘-ﬁzzmxmz-nzz
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(e)

o g

In diabetes mellitus, glucose is excreted as a waste product. Explain how
glucose becomes a waste product.

[2]

Total marks [9]

ani®

[Tosn ovex
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The investigation below is used to show that light is needed in photosynthesis.

\ 4 Light

Potted plant
Cotton-wool
plag

Leaf B

(@  List TWO effects the dark paper would have on leaf A after a few days.

& =

k -
(b) After 72 hours both leaves are tested for the presence of starch.

(i)  Which reagent would be used to test the leaves for starch?

(ii)  State the colour change you would expect in:

Leaf A

Leaf B

(c) Predict the effect of the following factors on the rate of photosynthesis.

()  Low temperature

(ii)  Excessive amount of water

[2]

(1]

[2]

[2]
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9019

(d)  Water is required for photosynthesis.

(i) Describe how the plant takes up water into its roots.

[2]

(ii) Name the process that takes place in the leaves of the plant which is
responsible for drawing water up the stem to the leaves.

AR ] [1]

Total marks [10]

E S
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7. The diagram below represents a simple reflex action.

(a)  Identify from the diagram

(i); the stimulus. -
(i—i)‘ the response. Jacs : , [2]
(b) (i)  Which part of the central nervous system is involved with this reflex
action?
(1]
(i) Name the parts labelled:
»
Q
R [3]

()  Describe and explain how the reflex action would be affected if part R was
cut.

2]

9019

| B B
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(d)  What is the difference between the action described in the diagram and you
deciding when best to cross the road?

(21

Total marks [10]

9019 ; [Turn over
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9019
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The diagram represents a half flower,

()

(®)

(c)

(CY

Name the parts of the flower marked P, R, S, T and U.

P o] R
s T,
U

(i) Name the type of cell division that occurs in Q.

(i)  Name the specialized cells produced in S.

[3]

{1}

1]

Give the letter of the structure that produces a substance that may become

attached to visiting bees.

State the function of:

S

R

113

2]




e

9019

(e)

et

Bxplain the events which oceur in the flower between pollination and
fertilization.
L Ty
(3]
Total marks [11]
-’*.j
End]
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Energy

A

(@)

2 i

The diagram below shows the flow of energy in kilojoules throulgh a food chain.

i Primary Secondary Tertiary
RECoR Consuiner | =+ | Consumer Consumer
208 800 , 80 ; 8

(i)  Name the source of enérgy entering the food chain.

[1]

(ii)  In what form does this energy enter the producers?
s [1]

(i) Name the pi-'gﬁtent whlch first gbs.@'rb's this energy.
; _ 7 g - v et [11

EXp}am the reason for the changes in energy in the four trophic levels shown
ori the diagram above. '

[4]

Decomposers are an important group of organisms in an ecosystem. Explain
why they are important.

5 .13}

Total marks [10]
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1e diagram shows the leaves, flower and fruit of Tecoma stans (Yellow Elder).

(a)

(b)

(i)  Name the process which makes food for this organism,
[1]

(ii) “ On the diagram, draw a line to identify the fruit and label it P. [1]

(111); Name the structure that produces branches from the main stem.

e
-

{1}
Using the diagram classify the Yellow Elder plant.
Explain your answer.
[3]
[Tary over
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The diagram shows the blood cells and tissue cells close to a lymph vessel.

(a)

(b)

()

Arrows P and () show substances moving in and out of the capillary.
Name the substances indicated by the letters P and Q.

P

-

'-
S ST

»*

Q (2]

(i)  Explain how lymph is formed.

12]
(ii) Label the lymph vessel and draw arrows to show the direction of

(iii) State TWO ways that tissue fluid is different in composition from
lymph.

{21

Explain how lymph nodes defend the body against foreign materials and
invading bacteria.

[2]

Total marks [10}
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4, Following a period of exercise, a man drank one litre of water and urine was
collected at thirty-minute intervals immediately after exercising, Before drinking the

-6~

water the man produced 60 ml(cm”) of urine every thivty minutes.

Time in minutes : Volumie of urine collected
(after drinking wafer) per 30 minutes in ml(cm?)
! Qs 60
7 {L_"';i : _e._ i = =
s 342
. 60 443
Al T " 0g 2 BT
120 60
50 . 110
. 180 58
v 43
"’_J# = =




B e

L[_] : (&) Draw a line graph to show the results in the table. [4]
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(b)  Using the graph, determine the total amount of urine released after

(i) 30 minutes

(ii) 80 minutes

et el = A e A = = == A = A e =

(i) 100 minutes - (3]

= g
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=0
718 Describe in detail the sequence of eveuls which leads to each of the following
responses: :
(2)  the withdrawal of the hand away from a hot object. - [10]

(b)  the changes in the iris when a person enters a dimly-lit room from a well-lit
area. : - [5]

(c) the growth of the shoot of a flowering plant towards one directional light. [5]

Total marks [20]

LS LTI O

5 .‘\

- Iy

070 ba PRt



e

s020

()
(b)

©

(d)

(a)
(®)

(c)
(d)

SECTION B
Answer any TWO questions
State THREE structural differences between xylem and phloem vessels. [3]

Explain how the flow of materials in xylem is different from the flow of
materials in phloem. : [2]

(i)  State why it is impossible for xylem cells to rely on active transport.
[2]

(i)  Explain the mechanism for water uptake, [5]

Explain how each of the following affects the rate of transpiration of a plant
like the Red Mangrove.

() _ thick leathery leaves [3]
(ﬁ}_é thickened cuticle _ [2]
(ﬁ;) leaves drop during dry season [3]

Total marks [20]

Explain THREE differences between aerobic and anaerobic respiration. [6]

Describe an experiment which could be performied to show that yeast cells

produce carbon dioxide. (6]
Explain how yeast is used in TWO different named local industties. [6]
Suggest TWO reasons why an athlete makes use of anaerobic respiration to
complete a race. [2]
Total marks [20]
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